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® z<—a<-3 ® 3<z<-z 274 7= 24 7= 24 A=
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®zr<-3<-uz @ —r<-3<z {iJ [2] 2] | =2 =) = ‘ = - =1
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® 3<-z<z
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DO zr<—z<-3 @ -3<zr<—x
®r<-3<-—-z @ —z<-3<z

® -3<-z<z
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D (=3) = (+5) = (=3) + (-5)
@ (+7)— (+3) = (+7) + (-3)
® (+3) = (+7) = (+3) + (-7
@ (—2) — (+5) = (+2) + (-5)

® (+2) — (+7) = (+2) + (=7)
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(=D|(=D[(=D|(+2)|(+2)
(=3)[(=3)[(+2)|(+2)(+2)
(=2)/(=2)|(+D)|(+1)|(+1)
(+1)|(+1) | (+1)|(=4)|(-4)

8. ta 5 At A3t 0 o 7HE 7k Ae Eetet

@ (=5) x (—4) @ (+4) x (-7)
® (—40) =+ (+5) @ (-33) = (-3)
® (+52) + (+4)

9. Eud7] 4719 237t tha3 Zdod vl 9
e #4439 olgel AdeA Fohe Ao H=
[ Jerell ggre 5 A Yojat

29 40cm & G

10. & A={-5 —4, -3, -2 -1,0, 1, 2,
3, 4, 5} ,B:{ —4<2 <49 35} 4 W, AnB
HAa F Aoz HY 7 Ee 9olA = 4 Fol
A &9 B4E Aotoiet

11. o5 oA ALt 237 oh& shb=?
@ (+4) + (-7) @ (=7)—(-4)
® (=2)-(-1) @ (-1)+(-2)
® 0+ (-3)

13. %= 5 &4
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14. b= At FAHoM Aoz S8 327? 18. o= F &< A2?

5+4 x {(=5-5") + 15}
=25+4 x {(=5-25) ~ 15}
=925+4 % (—30) + 15
=25+(-120) ~ 15

@D (=3)+ (+8) x (—16) +~ (+4) +21 =14
@ (—12) x (—3%) =6 — (—62) +4 = —58

@ 11— (+32%) — 23 x (=10%) = (=5) = =80
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I
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=25+(-8)
=17 @ 12+ (—4) + (-2) x 3= —12
©® 32 x4+6—(—8) x4=38
15. & = Aoigte 22§57} vido]w & 4 Afo] <]
M’} 8 d o, 7 55 Fotelet. 19. B2 £% 73717 4] 5300 gow a5t
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16. & A5 a, b+ AUkl 22 §7} A= gl 4 A -5
oltt. % 520 7}t 18 A W, %= a, b 2 Fahola}, : i
(F,a>0) D +3

17. o4 At 714 ©, @A AHgE AdH e A=
wat,

(+4) X (=96)+(+4) X (+99)+(-7)+(+2)
=(+4) X {(=96)+(+9P}+(=7)+(+2) «j(D
=(+4) X (+3)+(=7)+(+2)

=(+12)+(=7)+(+2)

=(+12)+(+2)+(=7)

=(+14)+(=7)

=+7
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